ORDER: ACCEPT BID FROM SOUTHERN GENERAL CONTRACTORS OF \$558,142.75 FOR FIRING RANGE AND REQUEST OVERAGE FROM WILDLIFE AND FISHERIES TO PAY HALF AND COUNTY WILL PAY OTHER HALF

Motion was made by David Rikard, duly seconded by Chad McLarty, to accept bid from Southern General Contractors of \$558,142.75 for Firing Range and request overage from Wildlife and Fisheries to pay half and County will pay other half.

The vote on the motion was as follows:

Supervisor Brent Larson, voted yes Supervisor Larry Gillespie, voted yes Supervisor David Rikard, voted yes Supervisor Chad McLarty, voted yes Supervisor Mike Roberts, voted yes

After the vote, President Roberts, declared the motion carried, this the 1th day of August, 2022.

Mike Roberts, President Board of Supervisors

Sherry Wall, Chancery Clerk

LAFAYETTE COUNTY FIRING RANGE PROJECT COSTS

Bid amount \$558,142.50

Construction Funds \$364,840.00

Less: Reserve for (8,000.00)

NEMEPA

Net Construction Funds (356,840.00)

Total Bid Overrun \$201,302.50

Lafayette Co. Share (50%) \$100,651.25 LWCF Share (50%) \$100,651.25

TOTAL PROJECT COST* \$646,402.50

LWCF SHARE \$323,201.25 LAFAYETTE CO. SHARE \$323,201.25

ORIGINAL CO. FUNDS BUDGETED (222,550.00)

ADDITIONAL COUNTY FUNDS \$100,651.25

REQUIRED

SHEET 1

^{*} This Project Cost Includes Revised Construction, Contingencies, Engineering, Testing Etc.

BIDS RECEIVED:

July 25, 2022 9:00 a.m.

LAFAYETTE COUNTY FIRING RANGE OBSERVATION TOWER AND PAVILION LAFAYETTE COUNTY, MISSISSIPPI

\$ 3,750.00	\$625.00 \$	\$ 4,548.00	\$758.00	\$ 360.00	\$60.00	C.Y.	6.0	CONCRETE PAVED DITCH (NO REINFORCEMENT)	S-228-A
\$ 7,000.00	\$140.00	\$ 4,260.00	\$85.20	\$ 3,000.00	\$80.00	S.Y.	50.0	CONCRETE SLAB (TARGET SYSTEM) (4" DEPTH -	S-608-C
\$ 3,500.00	\$140.00	\$ 2,368.75	\$84,75	\$ 1,750.00	\$70.00	S.Y.	25.0	CONCRETE PARKING (4" DEPTH - WIREINFORGEMENT)	S-608-B
\$ 70,000.00	\$140.00	\$ 33,375.00	\$66.75	\$ 30,000.00	\$60.00	S.Y.	500.0	CONCRETE WALKWAYS (4" DEPTH - NO	S-608-A
\$ 37,500.00	\$37,500.00	\$ 11,020.00	\$11,020.00	\$ 8,000.00	\$8,000.00	LS.	1	PROTECTIVE WALL FOR TARGET SYSTEM(AS ON PLANS)	S-304-A
\$ 12,640.00	\$79.00	\$ 3,520.00	\$22.00	\$ 4,320.00	\$27.00	C.Y.	180.0	GRANULAR MATERIAL (LVM)(CLASS 4, GROUP C)	S-304-A
\$ 30,150.00	\$4.50	\$ 30,485.00	\$4.55	\$ 26,800.00	\$4.00 \$	C.Y.	6,700.0	SURPLUS EXCAVATION (ON SITE DISPOSAL)	S-203-I
\$ 65,250.00	\$4.50	\$ 61,335.00	\$4.23	\$ 54,375.00	\$3.75	C.Y.	14,500.0	UNCLASSIFIED EXCAVATION	S-203-A
\$ 10,000.00	\$10,000.00	\$ 3,000.00	\$3,000.00	\$ 8,000.00	\$8,000.00	LS.		CLEARING AND GRUBBING FOR EXCESS EXCAVATION DISPOSAL SITE AS SHOWN ON	S-201-A
\$ 60,000.00	\$60,000.00	\$ 7,000.00	\$7,000.00	\$ 8,000.00	\$8,000.00	Ls.	1	CLEARING AND GRUBBING	S-201-A
\$ 85,000.00	\$85,000.00	\$ 75,000.00	\$75,000.00	\$ 10,000.00	\$10,000.00	يي	-	MOBILIZATION	S-200-A
AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	UNIT	QUANTITY	DESCRIPTION	TEN NO.
9302-WC	MS Certification: 19302-WC	1 (1964-MC)	MIS Caronication: 1				-		848
	Falkmer, MS 38629		Oxford, MS 38655						
	Xcavetors, Inc.	eneral Contractors, LLC	Southern General Con		ENGINEERING ESTIMATE				

BIDS RECEIVED:

July 25, 2022 9:00 a.m.

LAFAYETTE COUNTY FIRING RANGE
OBSERVATION TOWER AND PAVILION
LAFAYETTE COUNTY, MISSISSIPPI

\$ 3,600.00	\$1,000.00	5,400.00	\$1,500.00 \$	\$ 4,320.00	\$1,200.00	ACRE	3.80	SEEDING	S-214
\$ 2,175.00	\$3,625.00	720.00	\$1,200.00 \$	\$ 600.00	\$1,000.00	οN	0.60	AMMONIUM NITRATE	S-212-F
\$ 5,400.00	\$1,500.00 \$	4,320.00	\$1,200.00 \$	\$ 4,320.00	\$1,200.00	70 <u>¥</u>	3.60	COMMERCIAL FERTILIZER (13:13:13)	S-212-B
								EROSION CONTROL	
516,900.00	50	379,882.75	S	234,700.00	•			TOTAL SITE DEVELOPMENT PLAN:	TOTAL SITE
\$ 1,360.00	\$1,360.00	\$ 4,000.90	\$4,000.00 \$	\$ 1,200.00	\$1,200.00 \$	EACH	1	16' (2' x 8' PANEL) CHAIN LINK GATE	F-2
\$ 61,765.00	\$27.50	\$ 89,840.00	\$40.00	\$ 44,920.00	\$20.00	<u>-</u>	2,246.0	6' - HIGH CHAIN LINK FENCE	P
\$ 375.00	\$3.75	\$ 150.00	\$1.50	\$ 300.00	\$3.00	S.Y	190.0	GEOTEXTILE UNDER RIPRAP (TYPE V)(AOS 0.21	S-815-E
\$ 2,600.00	\$50.00	\$ 3,120.00	00.00	\$ 3,380.00	\$85.00	MOT	52.0	LOOSE RIPRAP (SIZE 200)	S-815-A
\$ 5,000.00	\$5.00	\$ 2,950.00	\$2.95	\$ 4,000.00	\$4.00	Ę	1,000.0	TEMPORARY SILT FENCE	S-610-A
\$ 12,000.00	\$2,000.00	\$ 12,000.00	\$2,000.00	\$ 3,600.00	\$600.00	EACH	6	12" PVC INLINE DRAINS	901-S-804-C
\$ 4,000.00	\$2,000.00	\$ 4,000.00	\$2,000.00	\$ 800.00	\$400.00	EACH	2	901-S-804-C 10" PVC INLINE DRAINS	901-S-604-C
\$ 16,005.00	\$97.00	\$ 12,127.50	\$73.50	\$ 8,250.00	\$50.00	Ę	165.0		01-S-603-T-J
\$ 3,600.00	\$48.00	\$ 1,987.50	\$26.50	\$ 2,250.00	\$30.00	L s .	75.0	15" CORRUGATED HIGH DENSITY POLYETHYLENE DRAINAGE PIPE	1-5-803-T-J
\$ 14,525.00	\$35.00	\$ 11,620.00	\$26.00	\$ 10,375.00	\$25.00	LF.	415.0		101-S-603-T-J
\$ 10,880.00	\$160.00	\$ 2,176.00	9	\$ 1,020.00	\$15.00	LF.	68.0	10" CORRUGATED HIGH DENSITY POLYETHYLENE DRAINAGE PIPE	01-S-603-T-
19302-MC	Fallerer, MS 38629 MS Certification: 19302-MC	17884-MC	Oxford, MS 38855 MS Certification:						
	Xcavators, Inc.		Southern General Contractors, LLC	UTE .	ENGINEERING ESTIMATE				

BIDS RECEIVED:

July 25, 2022 9:00 a.m.

LAFAYETTE COUNTY FIRING RANGE
OBSERVATION TOWER AND PAVILION
LAFAYETTE COUNTY, MISSISSIPPI

2,000.00 \$3,000.00 \$ 3,000.00 8,000.00 \$23,750.00 \$ 23,750.00 15,720.00 \$75,000.00 \$ 75,000.00 28,700.00 \$108,750.00 \$ 108,750.00 106,000.00 \$132,000.00 \$ 132,000.00 150,420.00 \$ 342,500.00	558.1	*	000,000,000		•			
\$3,000.00 \$ 2 \$23,750.00 \$ 2 \$75,000.00 \$ 7 \$108,750.00 \$ 10 \$132,000.00 \$ 13		•	388 050 00				ĬD .	TOTAL BID
\$3,000.00 \$ 2 \$23,750.00 \$ 2 \$75,000.00 \$ 7 \$108,750.00 \$ 10	160,4:	\$	134,350.00		45		TOTAL MISCELLANEOUS:	TOTAL MIS
\$3,000.00 \$ \$23,750.00 \$ 2 \$75,000.00 \$ 7 \$108,750.00 \$ 10	40	\$106,000.00	\$ 90,000.00	90,000.00	S.	1	TURNING TARGET SYSTEM	B
\$3,000.00 \$ \$23,750.00 \$ 2 \$75,000.00 \$ 7		\$28,700.00 \$	\$ 28,800.00	28,800,00	S.		CONTROL TOWER (12X12X20)	B-2
\$3,000.00 \$ \$23,750.00 \$	\$	\$15,720.00	\$ 11,200.00	11,200.00	L.S.		PAVILLION (18'X20')	р. Д
\$3,000.00 \$	*	\$8,000.00	\$ 2,850.00	2,850.00	S		UNDERGROUND ELECTRICAL	m,
	55	\$2,000.00	\$ 1,500.00	1,500.00	S		SITE SIGN AND HANDICAP PARKING SIGN	ş.i
							ZISCELL ANTIQUE ITEMS	
17,840.00 \$ 20,387.00	17,8	\$	19,000.00		55		TOTAL EROSION CONTROL:	TOTAL ERC
800.00 \$5.00 \$ 1,000.00		\$4.00 \$	\$ 1,200.00	\$6.00 \$	Æ	200.0	A WATTLES, 20"	S-237-A
2,000.00 \$7.00 \$ 3,500.00	*	\$4.00	\$ 2,000.00	\$4.00	S.Y.	500.0	EXCELSIOR BLANKET	S-227
1,000.00 \$7.00 \$ 1,400.00		\$5.00 \$	\$ 800.00	\$4.00	S.Y	200.0	SOLID SODDING	S-216
3,600.00 \$460.00 \$ 3,312.00	₩.	\$500.00	\$ 5,760.00	\$800.00	TON NO	7.20	901-S-215-A VEGETATIVE MATERIALS FOR MULCH	901-S-215-
MS Certification: 19302-MC	17664-MC	MS Certification:						
Fakner, MS 38629	distactors, c.c.	Oxford, MS 38655		ENGINEERING ESTIMATE				
ĺ	ontractors I i c	Southern General Contractors 11C	75	AMEEDING ECTIVA	Ē			

I CERTIFY THIS TO BE TRUE AND ACCURATE TABULATION OF ALL BIDS RECEIVED:

Larry L Britt, PEPS Page 3 Consulting Engineer

g Engineer

EWAISCW121_075\DOCS\Firing Range Contract Doc Information